> 1 MR {1, PR o1, B X5 @

31 M8 B Seae AR & 6 A2 ¢ St wedel (@ ies e
AR faqwred cwawe fHdwa @ e |

© | (PP fRIBIE ae MR R B 412 ¢ ©ns wwde (F e A
AR O AL G (7 PR I |

81 (PPIRCTA S@d MRCH @ (T G0 (TG N (@ a0
capcl

@ | FAARICTR 74 |

Y | AT Sae AR A4 afeca ot wfemiesta @ e

51 A 51, s 51, B RoE @)

Area= ;—A- Besin(p)

A = 80 feet

Cosine Formula: I TR T e
b% = a® + ¢ — 2accos B. C

c? = a? + b — 2abcosy,




§f§[ S®o
tanf@= o.qQoqy
TN, g = tan ™ (e.a0ay)

O = 35.28



Example: Find Angle "C" Using The Law of
Cosines (angle version)

£ K
7
In this triangle we know the three sides:
e A= 8,
« b=6and
« c=1.

Use The Law of Cosines (angle version) to find angle C :

cos C= (a? + b*> — ¢?)/2ab

= (82 + 62 — 7%)/2%x8x6

= (64 + 36 — 49)/96

=51/96

=0.53125

C= cos 1(0.53125)

= 57.9° to one decimal place



We know angle C =37°, and sidesa=8 and b= 11

c? =a’ + b? — 2ab cos(C)
c?=8+112—2 x 8 x 11 x cos(37°)
c=64+121—-176 x0.798...
c2=44.44...

¢ =44.44 = 6.67

Answer: ¢ = 6.67
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45 feet

50 feet 90




